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= 20,724,439
Jl 6,100,220
& 9,335,221
£ 420,000
= AMSoHA 22| 3,725,226 2,708,920 1,016,306
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J| 2,169,560
o= 1,449,416
HAIEXH2IHEX A 50,000 76,000 A 26,000
308 XX SHHSOIH 50,000 76,000 A 26,000
01 HXHHIMNEEXTZ 50,000 76,000 A 26,000
OHAMNE Heldls X 50,000,000 50,000
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308 XAHXIEH SO A 55,000 15,000 40,000
01 AIXSHMENEX= 55,000 15,000 40,000
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308 XHXIEH SO0l A 221,550 223,050 A 1,500
01 AIXSHMEMNEX= 221,550 223,050 A 1,500
OZ2%=2 Xl
87% x 12& * 1,000,000& = 20% 208,800
OHENHZ2FMAL IHeterd T2 (0 AHE
2hH) 12,750,000 12,750
401 AlEHIZL 2 0HY| 45,000 0 45,000
01 Al&H| 45,000 0 45,000
OFHUAAULANE SAFBAMH 2= (AIEH])
141 %45 ,000,000 45,000
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= 5,820,212
< 1,327,187
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< 967,056
308 XX EHSOIA 8,799,033 0 8,799,033
= 7,831,977
< 967,056
01 IXNHHBNEES 8,799,033 8,799,033
OFMSE dlgsa X
145« 7,004,893,000& 7,004,893
2 6,451,870
< 553,023
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